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Note :	 (i)	 All questions are compulsonj.

(ii)	 All questions carry equal weightage.

Answer the following question in about
600 words.

Discuss the need and importance of Mathematics
in primary school curriculum.

OR

Discuss the Inductive-Deductive method of
teaching mathematics.

Answer the following question in about
600 words.

Describe basic principles of planning instruction
in Mathematics at primary stage. Mention
limitations of Heuristic method of teaching
mathematics.

OR
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What is the difference between a unit and a lesson
plan ? Mention features of a good lesson plan.

	

3.	 Answer any four of the following questions in
about 150 words each :

Describe the concept of mastery learning
approach of teaching.

Explain Concepts of Line, Point and Angle.

Describe the characteristics of rectangle and
square.

Describe the characteristics of fast learners.

Describe main features of competency based
evaluation.

Discuss low-cost teaching materials related
to number system.

	

4.	 Answer the following question in about 600
words :

What is remedial teaching ? Mention the criteria
for selecting appropriate instructional material.
Illustrate with an example, which you have
practiced in your class-room teaching.
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